Biology revision Yr10 

Q1.  A brown heterozygous cat mates with a white tom.  

1. write the genotype of the cat.

2. write the genotype of the tom.

3. write the phenotypic ratio of their first generation.

4. if they had eight offspring, how many would be white?

5. what is the probability the ninth offspring would be brown?

Q2.  Why is external fertilisation not so efficient?

Q3.  State four features regarding meiotic division. 

Q4.  A black bull mates with a white cow.  A grey calf is born.  What type of inheritance is this? 

Q5.  A red rose is crossed with a white rose to produce all pink roses in the first generation.  If 2 pink roses are crossed together determine: 

(i)   the phenotypic ratio of the second generation.

(ii)  the genotypic ratio of the second generation.

Q6.  A male with free (F) earlobes  mates with a female with attached (f) earlobes.  All the offsprings are born with free earlobes.  

(i)   what type of inheritance is this?

(ii)  Draw a punnet square to show possible genotypes. 

(iii) what percentage of the offsprings are pure bred? 

Q7.  What is the importance of reduction division in meiosis?

Q8.  A red rose is crossed with a white rose.  All first generation roses were pink.

(i) What type of inheritance is this?

(ii) List the genotypes of the second generation when two offsprings from the first generation are crossed.

(iii) What is the probability of having a red rose in the second generation?

Q9.  An insect carries 16  pairs of chromosomes in a wing cell.  How many would you find in a haploid cell?

Q10.  If cells in the flesh of an apple contain 56 chromosomes, how many pairs would you find in cells within the seed?

Q11.  How many sets of chromosomes would you find in a diploid cell?

Q12.  Name the chemical that makes up a chromosome.

Q13.  Jeff and Julie have three kids: Julia, Juliet and Jack.  Jack is normal but his father suffers from sickle cell anaemia – a recessive disease.   Julie is normal but her family is known to suffer from this disease (let a = anaemia and A = normal).  

(i)  Write down the genotypes of Jeff  ____________ and Julie  __________.

(ii)  Write down Jack’s genotype  ___________. 

(iii)  What gene did Jack receive from his mother? _______.

Juliet is anaemic.  What gene did she get from (i) her father? ____  

 





   (ii) her mother? ____

Julia received the gene (A) from her mother.  Write down (i) her genotype _______

 (ii) her phenotype _________

Julia marries a normal man.  What is the probability of having:

(i) an anaemic child? _______

(ii) a homozygous child?  _______

What is the probability Julie’s next child will be anaemic? _________

Q14.  Why is cross-pollination preferred to self-pollination?

Q15.  What type of cell is a pollen grain?

Q16.  Draw a diagram of a meiotic cell division.


Q17.  Identify the type of asexual reproduction for each organism below.

Yeast    ____________________
Bacteria  ____________________

Sea star  ___________________
Fungus   ____________________

Onion  ____________________

Q18.  Describe the function of the following structures.

Anther:

Petal:

Q19.  Name the process of fusion between sperm and egg.

Q20.  Name the structure that stores male haploid cells.

Q21.  Name the process that produces a zygote.

Q22.  For each of the following terms write, place the appropriate letter next to the number.

	1
	Gene 
	Smallest functional unit of a chromosome 
	A

	2
	Gametes
	The study of the transmission of characteristics of the offspring.
	B

	3
	Chromosomes
	Union of gametes 
	C

	4
	Species 
	Successful gene of a pair 
	D

	5
	Hybrid 
	Groups of organisms capable of successful reproduction with each other
	E

	6
	Dominant 
	Thread-like structures
	F

	7
	Genetics 
	Haploid cells
	G

	8
	Zygote 
	Possessing two different alleles
	H


